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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
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(vi)
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All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Questions No. 1 - 3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 4-8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 9 — 10 and 23 - 25 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 11 - 14 and 26 - 29 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A

Ife Hiura afaeaod @ i@ g @ &, @ sElmE 9w\ ' o
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(@) 6 R Tar dieft W

() Wl AR gAdl A

If Marginal Rate of Substitution is increasing throughout, the
Indifference Curve will be : (Choose the correct alternative)

(a) Downward sloping convex

(b)  Downward sloping concave

(c) Downward sloping straight line

(d) Upward sloping convex

Fare @1 i g G | 1
Define budget line.

afe seg X it himd i/ |, agg Y 1 A sedt 2, @ g1 e WER 3§
(TR Toehed FHT) 1
(1) gl

@) T

(@) st &l

(3) whkEnft

If due to fall in the price of good X, demand for good Y rises, the two
goods are : (Choose the correct alternative)

(a)  Substitutes
(b)  Complements
(c) Not related
(d)  Competitive
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Iﬁsﬁaﬁmvﬁa%m%wa@ ‘A-/% (plus sign)ﬁ@?lmﬁ@
AT &g shl A1 1 hAd AE o G919 o 91 I K9-8 (minus sign)
Hawd quHATRT |

Explain the significance of ‘minus sign’ attached to the measure of price
elasticity of demand in case of a normal good, as compared to the ‘plus
sign’ attached to the measure of price elasticity of supply.

HRU FqTd gY ARG qTicTehT T SMaTRA ITTGH HHWIEAT 5h o THR T
feoquft i

I X (3HT3) FE Y (31E)
0 16
1 12
2 8
3 4
4 0

Giving reason comment on the shape of Production Possibilities Curve
based on the following schedule :

Good X (units) Good Y (units)
16
12
8
4

0

W [N+ O

IRA o g TR i faeht fasept &1 “ara # s9EY” (Make in India)
AfiA T IR & IqIET TUEET dh W FIT JUTE S hl GUET B 2
qygnsa |

YT

SRS G T & YACl o1 AATEAT Shl IcaTG &FT W I THE TS hl
GYTeHT 8 ? GHEATST |



What is likely to be the impact of “Make in India” appeal to the foreign
investors by the Prime Minister of India, on the production possibilities
frontier of India ? Explain.

OR

What is likely to be the impact of efforts towards reducing
unemployment on the production potential of the economy ? Explain.

7.  ‘gdam $Hwa (Freaw i FHaRon) % T avg % TR W R I9E 9Sd @ 2
@ired 1 TR I | 3

What are the effects of ‘price-floor’ (minimum price ceiling) on the
market of a good ? Use diagram.

7z : HETfeTiad 397 Fa givgia aherorar & o Jv7 G817 & €7 WE |
Note : The following question is for the Blind Candidates only in lieu of

Q. No. 7.
T 95 & SR R aq dma’ (Feran hma fgion o gwe a9emsg | 3
Explain the effects of ‘price-floor’ (minimum price ceiling ) on the market
of a good.
8. U AUNUHR IR § R-shrad Jfnfirar =1 dreasd Tuesy | 3

Explain the implication of non-price competition in an oligopoly market.

9. S Th g hi AUHIUS FHEAT T IcUIGT [ohal SITaT B () f&q
3T ANTA 3 (F) fed gfiad! ATd 1 91 TR &l © 2
JrqaT
3itEa Tred (M) i gt e | yaTiora Hife T sitea wefe o7
HHd THEHH BId B | 4

What is the behaviour of (a) Average Fixed Cost and (b) Average
Variable Cost as more and more units of a good are produced ?

OR

Define Average Revenue. Show that Average Revenue and Price are
same.

58/2 5 P.T.O.



10.

11.

12.

13.

Note :
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Teh I T a&q W Toaeh! shimd T 4 9d 391 8, T 100 3 AT 8 |
3Geh! ShId 25 Ufderd wH & S 7, a1 SUHRA 39 9%q W T 75 A Ll
2 | fawra fafer gro w6 Shima A= o1 qiehaq shifse |

A consumer spends ¥ 100 on a good priced at ¥ 4 per unit. When its
price falls by 25 percent, the consumer spends ¥ 75 on the good.
Calculate the price elasticity of demand by the Percentage method.

T I%] I SR Ggad H 8 | a%g S A § “Ghg” & A 7 | 39 qiEdd
% I B Tl THTET <l ST THETET |

Market for a good is in equilibrium. The supply of the good “increases”.
Explain the chain of effects of this change.

THEET, foh If¢ Tqem i o1d I 7 8 O Th IcUgeh dqad § i T8l i |
Explain why will a producer not be in equilibrium if the conditions of

equilibrium are not met.

T IcuTg o &9 H IRl AquTal & o & fafye = #=1 § 2 Jce =1
1 N0 FA1ST | QI T ITANT T |

What are the different phases in the Law of Variable Proportions in
terms of marginal product ? Give reason behind each phase. Use

diagram.

HETfeTRaT F97 a7 gIRgiT ahemiaal & 1o7q o7 G&37 13 & € W3 |

The following question is for the Blind Candidates only in lieu of
Q. No. 13.

giEdt Ui o o & fafYe =won i T geaeHe 3¢ hl FgrdaT 9
HHART |

Explain with the help of a numerical example different phases in the

Law of Variable Proportions.



14. T IUYRAT hadl ¢l deg3li X 3T Y &1 U9 Ll 8, GHI hl ST hiFd
T 2 9fd 318 8 | AR SUMRRT T ST b1 WET TAN AT 7 Fored Hiuma
YfeReeTad g 2 & SUeR 7, A 91 IUAH Tga | 8 ? F1 A«ar I 441 2 Vet
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HAAAT

Teh YA shadl &l aegali X 3R Y &1 Iu9N ar 8, aeht Himd o
T 53N T 4 F | ARG AT T Seg3Tt 1 WHT TAT AT 7 o X
g 3T 4 o seR 3R Y 6 Hidia Iu=far 5 & s g, o &
UM T | 7 ? i A¥d 1 a1 ? Ve feufa # ues foaasht Sudh @
T ? YA forzeisor 1 3w I | 6

A consumer consumes only two goods X and Y, both priced at ¥ 2 per
unit. If the consumer chooses a combination of the two goods with
Marginal Rate of Substitution equal to 2, is the consumer in
equilibrium ? Why or why not ? What will a rational consumer do in this

situation ? Explain.

OR
A consumer consumes only two goods X and Y whose prices are ¥ 5 and
T 4 respectively. If the consumer chooses a combination of the two goods
with marginal utility of X equal to 4 and that of Y equal to 5, is the
consumer in equilibrium ? Why or why not ? What will a rational

consumer do in this situation ? Use utility analysis.
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SECTION B

HHH Se H Y1 =1 g B @« (We forehew gfiw)
(31) U HF — TStea et

(F) T =TT — A et
(") TS 91l — <IN JIdE
(3) TSI H1eT — A T

Primary deficit in a government budget is : (Choose the correct

alternative)

(a)  Revenue expenditure — Revenue receipts
(b)  Total expenditure — Total receipts

(c) Revenue deficit — Interest payments

(d)  Fiscal deficit — Interest payments

gafse srefemes § GRy AT @ = IR g 2

What is ‘aggregate demand’ in macroeconomics ?

e Fwia UM JgRT = 1, 70 1 Yo I8 BT : (FE foehed gi)
(3) 0

(#) 1
(@) o1 d=
(3) o=

If MPC = 1, the value of multiplier is : (Choose the correct alternative)
(a) O

(b) 1

(c) Between 0 and 1

(d) Infinity



18. 34 9T qdad A W, Ife foreh 2w #f fadeh g1 R e hiwa findt 2, @
et 3 (WE ferehed gfw) 1
(a1) # 9fg B9 A dure Bt B
(@)  ® T b EHTEHAT B 8
(@) afg B 1 3t S A e et @

(3) R TG TE B hI AT Bl

Other things remaining the same, when in a country the market price of
foreign currency falls, national income is likely : (Choose the correct
alternative)

(a) torise

(b)  tofall

(c) to rise or to fall

(d) to remain unaffected

19. TcIY H I TEAU hgdldl & Hich I8 €Y 8l =49 gred fopan S 2

Direct tax is called direct because it is collected directly from : (Choose
the correct alternative)

(a)  The producers on goods produced

(b)  The sellers on goods sold

(c) The buyers of goods

(d) The income earners

20. ‘fogei @ 39w YA FgeH @Td | hal gof fohaT 1Al 8 ? R0 FdTsy | 3

Where is ‘borrowings from abroad’ recorded in the Balance of Payments
Accounts ? Give reasons.
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Ife arEdfash Tha T 3G T 500 B IR HFd Ik (IMER = 100)
125 &, qI Hifgeh Tehcd <IMT IITE AT TRehard ShifvTT |

If the Real GDP is ¥ 500 and Price Index (base = 100) is 125, calculate
the Nominal GDP.

fer (fa) e @ o o=ielt (7= fafima g 3 = i 2 2
T

e emarht (vafea fodt) fafme @ w1 o1 wwemsT |

What are fixed and flexible exchange rates ?

OR
Explain the meaning of Managed Floating Exchange Rate.

T FfaTl HqeH H 7 | FAfaRad @ Hiwa s=a ygfa @ aiehed hife
TER 3T = 1000
TR 399 = 100
fa = 120

An economy is in equilibrium. Calculate the Marginal Propensity to
Save from the following :

National Income = 1000
Autonomous Consumption = 100

Investment = 120

HedlF Sk R “Sehl T S hR HHSTST |
HAAAT

e S 1 TRkl S HE THIST |

Explain the “Bankers’ Bank function” of the central bank.
OR

Explain the “Bank of Issue function” of the central bank.
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Hod & T I HAT &, TR ot g9 ad § Toh AT Sk qgT o hid
3 | THSITST | ST Sehi g 39 HgT GO I TSR 3T W 1 I9TE 9 <hi
HITEAT B ? GHEST | 4

Currency is issued by the central bank, yet we say that commercial

banks create money. Explain. How is this money creation by commercial
banks likely to affect the national income ? Explain.

A FEHHEAE HH A H HR Sod ifd 1 8 T L Hehdl & ?
HHHATST | 6

Explain how the government can use the budgetary policy in reducing
inequalities in incomes.

RO SATd Y AH3Y foh T T 1 Sfehed id wHa fefafad & @

D o o
[ oddall Tepdl 4l dllay : 6

() T s I Th BH g AN YTAH

(i) T Ak ol Teh seb gRI ST YTAH

(iii) T S I Teh Afth GRI ST YA

Giving reason explain how the following should be treated in estimation
of national income :

(1) Payment of interest by a firm to a bank

(ii))  Payment of interest by a bank to an individual

(iii) Payment of interest by an individual to a bank

‘STl 7T " A AT B 2 3Eeh! QU H S Ul fHerT AT |

e
‘FAfa 7w (srfemin) @ @ S @ ? 3@l @ R HOwid grElie @ A
YfHreh! HHETSY | 6

What is ‘deficient demand’ ? Explain the role of ‘Bank Rate’ in removing
it.

OR
What is ‘excess demand’ ? Explain the role of ‘Reverse Repo Rate’ in
removing it.
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29. SR $md W Faat T Ica1g’ qen FAfhew A 1 ufeher Shifv

(#3 )
(1) TThR G BEATAT ke RIGIE 7
(i) TR AfaH 39T = 50
(i) et mama (-) 10
(iv) Tree it s g i 60
(v) Tt sifom Suwim = 300
(vi) Tosft e 280
(vii) Tacett =1 FHaa e o/ (—)5
(viii) 2Afqq Tl 8
(ix) 3R Wik 8
(x) HoIBHE 12
(xi) Trm e 60
(xii) Tt < wfdenfa sm 20

Calculate ‘Net National Product at Market Price’ and ‘Personal Income’ :

(¥ crores)
(1) Transfer payments by government 7
(i1)  Government final consumption expenditure 50
(iii) Net imports (=) 10
(iv) Net domestic fixed capital formation 60
(v)  Private final consumption expenditure 300
(vi)  Private income 280
(vii) Net factor income to abroad (-)5
(viii) Closing stock 8
(ix) Opening stock 8
(x)  Depreciation 12
(xi)  Corporate tax 60
(xii) Retained earnings of corporations 20
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